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Group I': Accounts

(7 myr)
COST ACCOUNTING
(= drariw)
Time 3 Hours]
. [Max Marks Regular 85/ Privat: 100

IMin. Marks Regular 28 / Private 33

7&7.' : i
:;gmnm‘_m?mmﬁtmmt | warw wwg # faa
® gEA % | et % v sw femom don weaw # qafe wE Bndr o
e Tl ¥ T G0 fie st e o gt ¥ |
fo]lo:.:]-nthe' i?mz:nmdc:? are l;:f)mpl.'llsﬂry for all Regular and Private students. Please
ave os shome q:;r::;og:ven in each se?tion. Malrks distribution for all students
trs i paper. The blind candidates will be given 60 minutes

T N i : Objecti
TgE Section A : Objective Regular 15x1=15/Private 1541=15

1. & aa + ofadavie Iuftarn A o § -
(31) 3T AT
() = arE
(®) F& qFw
(z) fawg @ &P |

Prime Cost plus Variable Overhead is known as :
ia; Production Cost
t6) Marginal Cost
(¢} Total Cost
id) Cost of Sales.

2. warw gt
() fAmfor &
(7) wemEA @rE
(@) fasra w@ Reaor @
(z) S & & g A6 |
Direct Material is a :
(a) Manufacturing Cost
(b) Administration Cost
tc) Selling and Distribution Cost

(d) Any of the above.
3. mmtmmﬁmﬂﬂﬂﬂm&ﬂﬁ'ﬂfﬂmﬁﬂﬁﬂmﬁr%:
t&lnder Gant’s Task and Bonus Plan, no bonus i payable to a worker if his efficiency is less
an :

(a) 50% (b) Gﬁ‘gf?{
1
() 833% WA 100%
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4 ﬁm,mm%“aﬁaﬁmﬁﬁmqﬁmm

() 107 @ 167

() 20% e

If pnﬂit 18 25% of cost then it will be I‘(‘r{:enu@,' :ijps

ial 10% ge

(e 20% :. ‘L’z:r;e of the above.

5 % svE W afifee §

(&) $oft mmre

(@) wehe & smw

() 7= ame

(7) Svgws aft |

Included in Total Cost -
(@) Cost of Capital
(b Cost of Machine
(¢} Prime Cost
(d) All of the above.
6. = & ¥ oty dar Ry &
(1) oftsger fyvrr
(@) wehfrT e
(w) efAfReT R
(T) A F *E A |
Which ie the following is Service Department
{a) Refining Department
tby Machining Department

{c;) Finishing Department
td) None of these.

7. aftareE awa i adr ¥
(ar) witkgr @ ggfed a2
(w) & awE T
(7) Iuwrd arm agfer o
(z) w73 A o@fy 7 |
Operating Costing is based on
ta: Process Costing
(br Contract Costing
(¢) Job Costing
(d) Unit Costing.

8. oftave amTa A wgE T e ¥

(31) ouré ¥ & () R g ¥

Qperating Costing Method is not applicable in :

(a) Printing Press ib: Cinema House

(¢) Hotel (d) Nursing Home.
9. witkar wrTe dwisa ¥ wfy T AT Wor ¥ w4

(1) e wfy (@) s wfy

(&) awrr (x) sreT T |

In Process Costing cost per umit increages because of :

(a) Normal Loss (b) Abnormal Loss

(¢) Normal Gain {d) Abnormal Gain.
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W ¥ : WY IWOW Section B : Bhort Answer

'18-309
e viwA wTAR ¥ o g B
W) o= (7)) W (W) e inwﬁﬂmm |
In a Oil Refinery Industry the main product jg '
a' Petrol bt Sulpher e} Fertilizer d’ None of the above.

T T W R A R B @ ek g 0 T e ) g e @ B
F wuw s sl guw s agf?
() s wrw af oo s TR

(w) aftg=m Ay

@) T A A A

Which 15 the method of calculation of equivalent
tar FIFO Method

b LIFO Method

¢ Average Method

d: None of these.

production of opening Work in Progress

sTE dgt gro et v war g 12,500 w72 ¥ ot Rl gt & 11,200 502t | frefra avw = @y, o
ST ®TY 5,000 w12 R

) 5.000 w98 {q) 3.700 s

F 6,300 w7 (%) Sugwr & & wrg @ |

Depreciation charged in Costing 1s Rs. 12,500 and in Financial Books is Rs. 11,200 What will
be the Financial Profit when Costing Profit is Rs. 5.000

a' Rs 5,000 {b) Rs. 3.700

¢! Rs 6,300 id) None of the above.

afz AdrT &1 80,000 s92 2g7 RPN 03 s 10,000 5T A A @rTE @7 2

(37) 90.000 &7& (@) 70,000 s72

(&) 1,00,000 597 (%) Sugw # & ¢ A

If Financial Profit is Rs. 80,000 and Income on Investment Rs. 10,000 the Costing Profit will
be

a' Rs. 90,000 ib! Ra. 70,000

¢! Rs. 1,00,000 (d) None of the above,

srafy smr ¥ - hitp://'www.davvonline.com

(3r) aftad=efter ame (T) vy amrd

(g'} qq T (7-'-'] aufeagg s |

Period Costs are :

{a) Variable Costs (b! Fixed Costs

(¢) Prime Cost (d) Overhead Costs.

(37) T=T FTHIT g (T) F= "AaTe g

(¥} TATAF LT ZIT (T T & fmdy & ot g

Cost Auditor 1s apponted

1a) By State Government b» By Central Government

¢’ By Board of Directors ‘dr By any one of these

Regular 5-4=20/Private 5x5=25

1. MMWmWﬂmmt?

What is the difference between Material Control and Material Valuation ?
sy OR

ey T8 Sveqw = & dre s o |
Distinguish between Direct and Indirect Labour.

WO SUTUOAABD MMM/ dNY



WO AUIUOAARD MMM/ dNY

w

% ¥ : fid Iwdm Section C : Long Answer

1. o i 3 worgll o o i ) qu ek ¥ 9 g2 A ¥ M R ¥ gy gy dorw ww 6 w2 A
Ll il vy wveg® 75§ ¥, T F sl w4 €72 ¥ S 3oy waw g owegl w1509
¥ | S  wreEr " () SRR @ (7) d39 3o T4 (9) W e ¥ s wa dfvo
A worker takes 9 hours to complete a job on daily wages and 6 hours on a scheme of payment
by results. His day rate 18 75 paise nhour_lhemawnnlcoutofthepmdugtmﬂs_‘iwm
overheads are recovered at 150% of the (otal] direct wages. Cn]culat.ethefactoryco-tofpmdm

;

4 JS-309

mrrss TN YT EETTTE EET B &ET weTTH

e ate between Uost Sheet and p
Differentia wt ! 1eet and | "“1.1r-l_|nn A cooiant
T OR
Frexfyfire srlt & J@rme & oo it
o greeft w oohre e I
2 00k
 wTEE w 12,000
(58 7-"777::‘ &0 TV ¥WTE ()Ui)'l}ll
. 106
1% 2 '91“ e FTaA l}f!r
1,200
it w5 afEm 2w
' . e ' 40, 000
srwdt @1 B (Fraw S0 g9 1 500 7 2 000
Calkeulate the Cost of Material Consumeg
- R:—I
1 "\'E STINE ‘.":[u']'{ of Material 12 000
Purchase of Materiad 60.000
11: Freight on Purchases of Matenal 100
n Defective Material Returned 1.200
v Closing Stock of Matenal 40.000
vi- Material Sold ' Cost Price Rs. 1.500 of Material Sold 2.000

31 femmw. 2013 #1 21 fourd 39 0 € T | fererse 3 3 U ¥ 509 @ gmor 0w R g % e
2 00 000?’:?..’3?*?_’?%’*3@'&?1???Wrﬁﬁﬁll.lgfj{)l_']mjﬁm? ST FE E ANE w0 Fife
On 31st December, 2013 two third of the contract was completed. The architect issued certificates

50% of the contract price is Rs. 8,00,000 and the actual expenditure on this contract was incurred
Rs. 4.19.600. Calculate Cost of Uncertified Work

s OR
of¥ares wmr frafor ¥ ger 3w s € ° hittp://’www.davvonline.com
What are the main objects of Operating Costing ?
What 1 Normal Loss in Accounts ? How its accounting is done ?
stgar OR
g AN T AT A F e F =T s T a7
What 1s reasons for difference between Cost Profit and Financial Profit ?
Give any four charactenstics of Marginal Costing.
srqar OR
AN FFET RT ¥ P TEF AT FA R 7
What 1z Cost Audit ? What are its functions ?

under (a) Piece Work Plan (b: Rown Plan and tc) Halsey Plan.

sy OR

Faglt e o oy QfvdY A wemsn A Ty Al e avem @R
Mmomhdpdmethodofwues Payment and epxlain any four of them

“.

Regular 5x10=50/Private 5x12=60

WO SUTUOAABD MMM/ dNY



WO AUIUOAARD MMM/ dNY

5 JS-309

2 FPreafafar faom g e .

afterg (nlmﬂﬂg m' mmw'ﬁm(“lm&amﬁ 0 W (%) §9 AT W T

Fr“mrl‘h!' \ﬁ‘l“-t B !‘-H u(") " E ilﬁ”“‘&#_lﬂ}“ ;?:I"l"‘,:[l mm(‘)mﬂmmmf}

»d OWing particulars prepare a Production Account showing 'a) The prime cost of
goods produced, (b) The work cost of suc

'QOdE. {Cl T . % ®
profit stock actually sold and (e) Net profit for the m i, o of production, ) Eroduction

nth
1 Rs.
¥ AT w1 M Raw Material purchased’ 15.000
Te WOEA (Direct Wages) 12.000
T A W AT @I Opening Stock of Raw Material) 3,000
e 7T (Indirect Wages) 8,000
¥R AT W iy ot (Closing Stock of Raw Material} 2,500
i ma w m Eh ‘”])t‘mng Stm‘k of Fimshed G(Judsr 3.000
i wra w7 st = ‘Closing Stock of Finished Goods) 1,500
®0 =4 - Buyving Expenses: 500
i W w ‘Opening Work in Progress: 3.300
wfdm g ¥ Closing Work in Progress: 2,100
Fra#a (Sales) 62.500
A & T oF wx (Factory Rent and Tax) 350
wrateg T (Office Rent) 1,150
faremos (Advertising: 435
THTE FHA (Commission to Agent) 565
sitafts ardt w3t (Carriage Inward) 210
@UE 9T B9 (Depreciation on Plant) 800
wZeT (Dascount) 90
aredt mmér Wrer (Carriage Outwards) 160
¢oft or & (Interest on Capital) 2,500
faer =2 wrer A fshr (Sales of Scrapped Materiall 300
AqTer &0 (Purchase of Finis 8 ,
fafiar s h f Finished Good 4,700
M (Octroi) 100
#rafera wATeC 9% B (Depreciation on Office Furniture; 340
sroar 3uftar (Factory Overhead) 600
sqar OR
Rrerfafirer sfwdl & w7 85 & Ry w792 &1 o9 fifdro
Compute Machine Hour Rate for Machine No. 85 from the following data -
&2 Rs.
) we & &ma (Cost of Machine) 11,000
(i) ST w9 (Scrap Value) : 1,000
(iii) swrdr offe (Effective Life) 10.000 Hours
(iv) FOwE o TacaTy gk vheer & MY (Repaizme-®d Mantenance for whole hie 2,500
T mtmw(%mm*““?hvl
(Standing Charges for Shop : For a month of 25 working days: 400
(vi) wTCaT® ¥ WAt & §@ (No. of Machines in the Shq,, 10
(vii) AP ETd¥ire 9v2 (Working Hours per day’ 8 hours
(viii WTfRY 1 IwwiT qfy e Wiy AT { Power used per machine per month! 78,

(i) wYT @RT BT ¥ 5% (Machine Insursnes 5% of Deprocigrion)
- i
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1 afh=, 2013 % ow B A .
J % i yrw TATAT Srenyg Pt Pweret Bt 4 00,000 s ar  Xer wr P

On ot g, 2013 4 om0 | % . b . e 8 o
!h.4.00.000.ihom:fc?:lﬁr::;‘;rﬁmrﬂ"wd to huild a Cinema Hall The contract price being
o I 5 201
on this contract up to this date has h::r:r::tgﬁndmlnn 30th Septamber. 2013 The axpenditure
. w'a

il Ra
st (Material) 60,000
wf (Wages! 42.000
=TT (Plant! 10 000
¥=1 51 (Other Expenses! 3,000

30 vz, 2013 % 1,50,000 w12 W Wt wufirs @ g o, PEA A RO% A% ST WY AT (A e
R oty st e 3w g 10,500 w8 ar | Ywr eqw o€ Tf A E R 5,000 BT AT ATE T
@ T 109 et 27 & gTE FR U 3w grer agw |

Work to the value of Rs. 1,50,000 had been certified on 30th September, 2013 of which
80% had been received in cash Work completed but not certified was estimated at Rs. 10,500
Material valued at Rs. 5,000 were on hand at the site.

After following depreciation at the rate of 107% per annum on plant, prepare Contract Account.
agar OR

oftare o R = § 7 wmd w3 ¥ ? 3 gt § AW aaeney, e gw 6fF w1 s R sver
% | htp//www.davvonline.com
What is Operating Cost ? What are its objects ? State the undertakings where it is to be used.

& ITE A afFarst & o eter @ e P, Q @0 R 1 g Rawor P ¥
A product is obtained through three process viz P, Q and R The detail are az follow:

P Q R
s Rs. w18 Rs 770 Re.

Raw Matenal Introduced Unity 2.000

F=47 Aradn £ of* 3FTg ¥ Ae

Purchased Cost of Raw Material per Units 25

=T AT AT

'Other Direct Material) 5,000 3,000 2.000
g IH HH

1Other Direct Wages! 12,000 12,000 15.000
U8 AT
‘Direct Expenses/ 1,600 1,792 2.092
AT T (S F HIANE) -
(Normal Loss (% of input) ' “ 5% 2%

e wry 12,000 wad ¥, o 5: 4 3 F gyure ¥ af? mu | ofn @ @A @ welrw o ufr

wTTe ZNER |

Indirect Expenses of Rs. 12,000 shared jn the Ratio of 5 : 4 : 3. Prepare Process Accounts
and determine the cost per unit in each process.
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qarm ffhe ) geres Ben A oow @ perd ¥ TN ) Ava fafere afean? s 8 R aftemn s e R
i A s R 25 A ovewa vt R TN R fafhe g @t ey av P s e e 25%
are qme @ wtw R wrertra fem omer B0 PYOY fyreoy Y g aftarn ar ey faffer wrm e e |
gy ofem R} ©¥ ga s 0w 6 it e m g

The manufacturing operations of Panama Lid involve three distinet processes in connection
with the same umt Tt_"' output of Process P ig charged to Process ‘Q at a profit of 25% on
cost and the ‘\‘“‘I"U‘ "f_lll'“\“'F?‘ LH_ i charged to process is transferred in to stock at a price
which gives lf“"“-“" R’ a profit of 257 . From the following particulars prepare Process Cost
Account and Fimished Stock Accounts Stock in each process have been valued at pnme cost

gf#kar ( Process)

q P Q' s R
5T Rs. w0 Rs w1 Ra.
oy g0l (Material used) 28,000 42,000 14,000
w77  Labour 42.000 28,000 56,000
st =% Closing Stock! 14,000 28,000 42 000
fasu Sales: 2,54,000 .- .-
Frffa TaTdl 1 AR 2P 26,000 T W R | ATH-wfy @y k #fdw A A o @ anefaE g /

F1 off aeeTEd |
Closing Stock of finished products amounted to Rs. 26,000. Show also actual realised profit

to be taken to the credit of the Profit and Loss Alc.
qmmﬁfmmlsmﬂnﬁrmiﬁﬂ?rMMWMﬁa&n 8,000 THTEA W I AT
fag wAT & @ 5 B9 ufy g 1 oy e ¥ | ol A 20,000 TR 7% a@ & WA A qW 4 T uf

T#rd w1 9w e wE ¥ goat st gwredy AR § e fawg A o fifvre

A company sells its product at Rs. 15 per unit. In a period if it produces and sells 8,000 units
it incurs a loss of Rs. 5 per umt. If the volume i raised to 20,000 units it earns a profit of
Rs. 4 per unit. Calculate breakeven point both in terms of Rupees as well as in Units.

Faar OR

wmtm,mwmmmw |
Describe the objectives, profits and types of Cost Audit.
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